Scatter Graphs-Questions
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20. Car tyres are checked for safety by measuring the tread.

The tread on a tyre and the distance travelled by that tyre were
recorded for a sample of tyres. The scatter graph shows the results.
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Tyres with a tread of less than 1.6mm are i

gal

Suppose the government changes this rule to less than 2.5 mm

(a) How many of these tyres would now be il

gal?

\

(b) About how many fewer kilometres would you
expect a tyre to last before it was illegal?
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4. The scatter graph shows 15 pupils’ coursework and test marks.
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To find a pupil's total mark, you add the coursework mark to the test mark.

(@ Which pupil had the highest total mark?

\—

(o) Lok at the statement below. Tick (v) True or False.

(e range of coursework marks was greater than the range of test mari.

\ True False

Explain your answer.

\





image9.jpg
(©

(@

Pupils with total marks in the shaded region on the graph win a prize.
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What s the smallest total mark \
needed to win a prize? R S
Another school has a different rule for pupils to win a prize.

Rule:  The coursework mark must be 25 or more, and
the test mark must be 25 or more, and
the total mark must be 65 or more.

On the graph below, shade the region of total marks for which pupils would
win a prize.

\ 50

40

30
Test
mark

20

104 +—— — .

0 10 20 30 40 50
Coursework mark M




image10.jpg
21, Apupilinvestigated whether students who study more watch less television.

The scatter graph shows his results. The line of best fit is also shown.
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(8 What type of correlation does the graph show?

\

() The pupil says the equation of the line of best fitis y = x + 40

\

Explain how you can tell that this equation is wrong.
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‘The scatter graph shows 15 pupils’ coursework and test marks.
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To find a pupil's total mark, you add the coursework mark to the test mark.
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Coursework mark

Which pupil had the highest total mark?

\—

Look at the statement below. Tick (v) True or False.

| The range of coursework marks was greater than the range of test marks.

True

False

Explain your answer.
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(©) Pupils with total marks in the shaded region on the graph win a prize.
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(d) Another school has a different rule for pupils to win a prize.

Rule:  The coursework mark must be 25 or more, and
the test mark must be 25 or more, and
the total mark must be 65 or more.

On the graph below, shade the region of total marks for which pupils would
win a prize.
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14, Apupil investigated whether students who study more watch less television.
The scatter graph shows his results. The line of best fit is also shown.
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(a) What type of correlation does the graph show?

\

(b) The pupil says the equation of the line of best fitis y = x + 40

Explain how you can tell that this equation is wrong.

\
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23, The scatter graph shows the maximum number of passengers plotted against
the wingspans of some passenger planes.
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(a) What type of correlation does the scatter graph show?

\

(b) Draw a line of best fit on the scatter graph. —

(c) Another passenger plane has a wingspan of 40m. The plane is full of passengers.

If each passenger takes 20kg of bags onto the plane, estimate how much their
bags would weigh altogether.
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The scatter graph shows the maximum number of passengers plotted against
the wingspans of some passenger planes.
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(&) What type of correlation does the scatter graph show?

\

(b) Draw aline of best fit on the scatter graph.

I each passenger takes 20kg of bags onto the plane, estimate how much their

(©) Another passenger plane has a wingspan of 40m. The plane is ful of passengers.
bags would weigh altogether.

\
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14, Lookat these two scatter graphs. They are both drawn using the same scale.

Graph A GraphB

(@ Which scatter graph shows positive correlation?

\ A B

Explain your answer.

\

(b) Which scatter graph shows stronger correlation?

\ A B
Explain your answer.

\
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Look at these two scatter graphs. They are both drawn using the same scale.

Graph A Graph B

(a) Which scatter graph shows positive correlation?

\ A 8

Explain your answer.

\

(b)  Which scatter graph shows stronger correlation?

\ A 8
Explain your answer.

\
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22 The scatter graph shows the lengths and diameters of 15 acors.
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(a) What is the modal class of the lengths of the acorns?

Tick (v/) your answer.

18mm < length < 19mm

20mm < length < 21mm

19mm < length < 20mm

21mm < length < 22mm

(b)  Which point on the graph shows the median length of the acorms?

Put a ring round it
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(©) Which scatter graph shows the line of best it?
Tick (v) the correct diagram.
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The scatter graph shows the lengths and diameters of 15 acorns.
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What is the modal class of the lengths of the acorns?

Tick (v/) your answer.

18mm < length < 19mm

20mm < length < 21mm

19mm < length < 20mm

21mm < length < 22mm

Which point on the graph shows the median length of the acorns?

Put a ring round it
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() Which scatter graph shows the line of best fit?
Tick (v) the correct diagram.
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15.  The scatter graph shows information about trees called poplars.
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(a) What does the scatter graph show about the relationship between the
diameter of the tree trunk and the height of the tree?




image2.jpg
(b) The height of a different tree is 3m. The diameter of its trunk is 5cm.
Use the graph to explain why this tree is not likely to be a poplar.

\

(c) Another tree is a poplar. The diameter of its trunk is 3.2cm.
Estimate the height of this tree.

(d) Below are some statements about drawing lines of best fit
on scatter graphs.

For each statement, tick (v') to show whether the statement is True or Fal

Lines of best fit must always...

\

go through the origin. True False

have a positive gradient. True

t values. True

join the smallest and the larg,

through every point on the graph. True
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The scatter graph shows information about trees called poplars.
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(a) What does the scatter graph show about the relationship between the
diameter of the tree trunk and the height of the tree?

\
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(b) The height of a different tree is 3m. The diameter of its trunk is 5cm.

Use the graph to explain why this tree is not likely to be a poplar.

\

(c) Another tree is a poplar. The diameter of its trunk is 3.2 cm.

Estimate the height of this tree.

\

(d) Below are some statements about drawing lines of best fit
on scatter graphs.

For each statement, tick (v') to show whether the statement is True o False.

Lines of best fit must alway

\

go through the origin. True
have a positive gradient. True
join the smallest and the largest values. True
pass through every point on the graph. True

False

False

False

False
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6. The scatter graph shows the average body length and average foot length
of different species of rodents.
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What does the scatter graph tell you about the type of correlation
between the body length and foot length for these rodents?

i

(b]

Draw a line of best fit on the scatter graph.

i

(c)

If body length increased by 50mm, by approximately how many
millimetres would you expect foot length to increase?

Ring the correct value below.

\
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KSY04MaTTier 5-7/P1 -
satspapers.org

Fodents cont, Two dice

(d) An animal has a body length of 228mm, and foot length of 22mm.

Is this animal likely to be one of these species of rodents?

Tick (v/)Yes or No.

\ Yes No

Explain your answer.

\
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9. The scatter graph shows the average body length and average foot length
of different species of rodents.
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(a) What does the scatter graph tell you about the type of correlation
between the body length and foot length for these rodents?

\

(b) Draw a line of best fit on the scatter graph e

(©) If body length increased by 50mm, by approximately how many
millimetres would you expect foot length to increase?

Ring the correct value below.
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(d) An animal has a body length of 228mm, and foot length of 22mm

Is this animal likely to be one of these species of rodents?

Tick (v)Yes or No.

\ Yes No

Explain your answer.

\





